P o o RGN EEO=ZERNRE. 1 v 7R

7/

“HERZ2H, Fiflau oA LV RORGRI (A 23—29 H) AR LT, 1 [EFRE
BEY 7 0 OB HUSRGLE 13- 1 - 46 AT, BIEDND 62%HM, 1 > 7 o FITEE 0 -
09 A\ & Bl T 36%I4 LT,

BIZEk2 e, Filand ol BHE70 OB ITRIE L D 30 ALV 90 A & H#EGFS
N5, 29 BETO 1AM CRERBEROILEFEBEICHHEAR LT-H a e FoBRF T
A 4 A D 4 N & 72T,

EYSERERIT (il o X 2 BEEE TN, Ao 7L P EDTEKE L

TUFD WKL DN T WD | R, BRI B T TG 38 2 2 ANICH 5 |
& U TGRS IE xR 2 BEOWNT T D

Mo, 6 BEKLTEETY—X b
6/28 BLERFTR

IB1% 27 B, 45 OESEBEKEND 16~22 HOBICHE SN -Flan oA L AD
FTHURGL BT HoS 1| BRI S 7= 5 - 87T N2 o7 AF LT, ALY 198 K1 R
Z. 5 A A LHEAIMER AV TV D, BENRFRBTIE 6 Bkt T2 & e o7z,
EAMT- 5 NEBAT-OIIVEE 8 H 12~18 H OISk, JEop i S E R 7 1 iTo A
B AR BT 5 G CHI X CWRNANE LY 9 ABi->T32 ANE/eo7=, D5 H 60wl L
229 N&E HOHT,

EPEEITES ST 100 AT, BHALY 010 A > MMEZ -, IRV TE N
DITBIEED 1+ 92 NTFF o7,

v, 1 EEEENSEY 1 A 5 AMHLisk, AR 111 /%
6/27 H:[EEE

=~ B EIT 27 B, 2EKN 3 TOEREREE 16~

s RSIE DD o | 22 RO LERICHE S/ Hill= m T 0 A LA DRTHRY
SEHNNDESERMENS | B A0 3841 AT, 1E%%%%t@100kﬁotk%§
geoe8le ol Ui, 1 NS L0, 4 HRDD 5 ARIDICHT T DM
5 054[% B 078 Pk, AEEIE 111 fE Ol L7, I8 o a3, o
5 % 029 % ® 141 BN 2 17 I 7 AT
= % 50~ = Bos ﬁi‘%ﬂf/’%ﬁkd S<RHoTWVDbOD, FIFFER & AITHT
= 072|5 ® 070 | VKL TVD,
B H 028|%F R 107 6 HE M4 7 RIS S N = N3 - MR Al
o e o e | 1 BB 7: ‘OOD,mm%‘?&ﬂﬂi%{ﬁ:ﬂ‘ 03021(431;%“(\ [l
% & 065 % 038 | WD 3.89 AND 5.87 NTHIM, Fhg1.92 A, KiE 1.52
% 4 1258 R 025 | A rigrniz, Aredo T OIRER 0.25 A, BKH & LB
#i A 089|@ W 1.16 ° .
# B 062 & 093 | 0.28 Nel7iol,

# % 152|Il1 O 062

T ¥ 129|&® 8 056 _— N ,
m wm 084 % )| 045 | 7EEKETIADTIC FAMRKUROHE 2w ERBEE
#EEl 109 2 B 192 | 6/27 PR

$ % 096\ 4 058 2 o5
# I 038 @ m 1aa | MELEIE2T A, SEH25E (6816 H~22 H) |
%;gggﬁggﬁﬂg mE%%%T%iéﬂtﬁﬂﬂHT?%»X®%%$%Q
W% 126 m & 126 | EFRLE, 1EFREENLT D OTHBELIO - 56 A
gzggggggﬁeg T, Bp@E (0 - 73 N) KV, 7THERKETL - 00 AET
B m 102 Ees 101 | Blof, REOBEHIIL - 00 AT, AHE (0 -90A) %
g g c‘)'ggg % R0 kAo 72, WA 45 BT EFREET ) S WAE A2 1T T B
e o | ERERECE Lok, HEBRED 25 AT,

"’1 uﬂhi’”k’)r — &k L







